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Researchers have reported that neither of the so-called 'environmentally friendly'
fuels...is...less damaging than petrol or diesel.

He is one of the brightest boys who...have.... passed the test.

The number of pupils admitted so far in this school...is... huge.

The hunters and his dogs...have... been arrested

PAST EXAMINATION QUESTIONS
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The quest of honour, as well as the chief launcher, ...... absent at the occasion. A are B is
being C was D were

All except Bola......... fair in complexion. A are B is C was D were

Either you or Kemi.........the answer. A know B knows C known D knowns

Since each of you......... given a question paper, you may begin. A could have B had been
C has been D have

Neither of the boys......... a given prize. A were B are C. was D. ought to

Everybody....... prepared to leave the school. A, arc B. C. were D. is
Nobody...... where to find the treasure. A know B. knows C. knowing D have known

Neither beef nor fish...... .n that shop. A are sold B. selling C. is selling D is sold
Neither John nor George...... what he is doing. A. knew B. knows C. kno Yénown
Every student.......... to be present at the concert. A have B. must \\A

The traditional ruler along with his wives...... into t e ushered B. were

ushered C. were being ushered D. have been m
Neither Audu nor John ......... math have likes C. don't

D. likes "(‘\
The commlssmng\rl\fi) <Q) th his K‘cr@& .. expected yesterday. A. are B.

was C vqf\
14 ? ctims........ @l@. he nearest hospital. A. was B. have been C. were D.
er
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Every one of them always....... the questions correctly. A. answers B. answer C.
answering D. have answered.
The accountant and the cashier --- absconded. A. is B. are C. has D. have
A good man and patriotic citizen --- passed away. A. is B. are C. has D. have
The famous juggler and conjurer --- invited for the ceremony. A. is B. are C. have D. had
The Three Musketeers --- written by Dumas. A was B were C has
Ninety dollars --- too much for this bag. A are B is C were D have
Chief John and his wife...... travelled to London. A has B. have C. having D. is
The formation of paragraphs --- extremely essential. A. are B. is C. Have D. has
Many a singer, artist and painter... ... disappointment. A. know B. knows C. known D.
knowing



